®

@ Modular

Assembly Technology Floor Elements thE4H 4 5.23-24

Floor Elements

ML

Leveling Foot-Fixed Foot ¢
X B-EE
Fixed foot have a non-moving connection between base and spindle.

&I SZ B ZF AT A IS £ (8] @ T RIVESNAY .

Material and Color; Base Plate-steel, electrophoresis, black  Spindle-zinc plated steel Pad-black rubber

MEB: RE-RIREK FAF-RNESE KBS e KE-2e RE-ERe

Fixed Foot
[EE S
Description D KxL H min. | Hmax. l\i.a;'é;aﬁgg;? Ma; Part No.
’ = Rk mm) | (mm) | (mm) | (mm) | F ﬁ(h])“‘ (; TS
40 | M12x70 | 35 50 4000 124 | 5.23.40.12.70
T s | M2x70 | 35 50 2000 181 | 5.23.60.12.70
- %‘%’%‘;ﬁ;ﬁ%?ﬂf M14x70 | 38 50 225 | 5.23.60.14.70
é’ * M12x70 | 35 50 220 | 5.23.80.12.70
| T 80 | M12x110 | 35 80 9000 240 | 5.23.80.12.110
IS
T

M14x70 38 50 283 | 5.23.80.14.70
oD Ad:M14 Fixed Foot should use an end cap with a punched hole
- 3 EE M4BT FLinS

Leveling Foot-Pivot Foot
X & B
To support structure where gradual height adjustment is needed, the pivot foot has a small
swiveling angle to fit slightly uneven floor. The connection between the pivot base and the
spindle can be released with a tool.
SRMAXMAREFTERAESENIERSEN, BHAER), ERAT
X FEE R E, L R A EEFTATRER S .

Material: zinc plated steel/stainless steel

MR BRI/ R RN . . Max. Static Load | Mass
Description D KxL Hmin. [Hmax. | = s s iy Part No.
Pivot Foot PR (mm) (mm) | (mm) | (mm) Ei*ﬁ?:\i‘)"‘ﬁﬁ (9;5 TR
ﬁ/}%/fi%ﬂa’% 40 M12x128 45 100 15000 241 | 5.24.40.12.130
H M14x128 | 45 | 100 17000 290 | 5244014130 (T
i M12x128 45 100 15000 475 | 5.24.60.12.130
.l ’l K Ty 60 M14x128 45 100 17000 523 | 5.24.60.14.130
il & B A MR RS M16x158 45 120 20000 596 | 5.24.60.16.160
i | M20x178 50 130 25000 796 | 5.24.60.20.180
) - M12x128 45 100 15000 670 | 5.24.80.12.130
é 80 M16x158 45 120 20000 780 | 5.24.80.16.160
E - M20x178 50 130 25000 945 | 5.24.80.20.180
T 40 M12x128 45 100 15000 240 | 5.24.40.12.130.SS
oD : M12x128 45 100 15000 430 | 5.24.60.12.130.SS
. . 60 M16x158 45 120 20000 600 [ 5.24.60.16.160.SS
e st M20xI78 | 50 | 130 | 25000 | 803 | 524.6020.180.5S
M12x128 45 100 15000 675 | 5.24.80.12.130.SS
80 M16x158 45 120 20000 785 | 5.24.80.16.160.SS
M20x178 50 130 25000 950 [ 5.24.80.20.180.SS




